
User Manual for Change in logic of calculation of gratuity/family 

Pension due to AE vs. LPD 

1. Introduction 
In light of Rule 50 (5) and 54 (14) of CCS Pension Rules, in cases where the emoluments of a 

Government servant have been reduced during the last ten months of his service otherwise than 

as a penalty, average emoluments as referred to in Rule 34 shall be treated as emoluments for 

purpose of gratuity finlization and determination of family pension.In case where Average 

Emoluments is greater that Last Pay Drwan(AE>LPD), after enetering 10 months emoluments, 

the system will ask a question - “Is LPD Less Than AE Due To Penalty?” with the options 

‘Yes’ or ‘No’. Based on selection of “Yes/No” by user, system will calculate the pensionary 

benefits as below: 

 

NOTE: This change is not applicable to Death While in Service cases at Form 18 stage 

2.  Effect at Form - 7 

In Form-7 first DH fills the emoluments. As soon as he/she fills the details, and if AE>LPD,  a 

dropdown will be highlighted in red under the grid  having text as “Is LPD Less Than AE Due 

To Penalty”.There are 2 options in dropdown “Yes” and “No”. DH has to select the condition 

for the pensioner, according to which Pension,Gratuity, Enhanced Family Pension and 

Normal Family Pension calculation will be done by the system. 

 

a. In first condition we assume that DH selects AE>LPD and Penalty =Yes and clicks on 

the “Submit & calculate” button as shown in Fig.(02). 

 



 

(Fig.02) 

 

As per above selection where AE>LPD and Penalty =Yes, calculation will be done as follows as 

shown in below Fig. (3).  

 Basic Pension will be calculated based on AE 

 Gratuity will be calculated based on LPD 

 Enhance Family Pension will be calculated based on LPD 

 Normal Family Pension will be calculated based on LPD 

 Commutation will be calculated based on Basic Pension 



 

 



 

 

(Fig.03) 

 

b. Now in second condition we assume that DH fills AE>LPD and chooses Penalty=No 

from dropdown and clicks on the “Submit & calculate” button as shown in Fig.(04). 



 

(Fig.04) 

As per above selection where LPD<AE and Penalty =No, calculation will be done as follows 

and shown in Fig (5).  

 Basic Pension will be calculated based on AE 

 Gratuity will be calculated based on AE 

 Enhance Family Pension will be calculated based on AE 

 Normal Family Pension will be calculated based on AE 

 Commutation will be calculated based on Basic Pension 



 

 



 

 

(Fig.05) 

c. As per third condition if AE<LPD, then the dropdown of Penalty “Yes/No” will be 

disabled as shown in Fig.(06). 



 

(Fig.06) 

 

As per above selection where LPD>AE and nothing is chosen from dropdown, calculation will 

be done as follows and shown in Fig (7).  

 Basic Pension will be calculated based on LPD 

 Gratuity will be calculated based on LPD 

 Enhance Family Pension will be calculated based on LPD 

 Normal Family Pension will be calculated based on LPD 

 Commutation will be calculated based on Basic Pension 

 



 

 



 

(Fig.07) 

3. Revise Form– 7  
The scenarios as covered at Form 7 will be applicable at Revise Form 7 stage as well under DH 

Pension 

4. Pay Revision (Type 5)  
Same logic has also been implemented in case of pay revision (Revision Type 5) 

 

 

As soon as DH Pension fills the details, and if AE>LPD, a dropdown will be highlighted in red 

under the grid having text as “Is LPD Less than AE Due to Penalty”. There are 2 options in 

dropdown “Yes” and “No”. DH has to select the condition for the pensioner, according to which 



Pension, Gratuity, Enhanced Family Pension, Normal Family Pension and commutation 

calculation will be done by the system. 

a. In the first condition we assume that DH selects AE>LPD and Penalty =Yes and clicks 

on the “Calculate” button as shown in Fig (8). 

 

(Fig 8) 

In above Scenario where LPD<AE and Penalty =Yes, calculation will be done as follows as 

shown in below Fig (9).  

• Basic Pension will be calculated based on AE 

• Gratuity will be calculated based on LPD 

• Enhance Family Pension will be calculated based on LPD 

• Normal Family Pension will be calculated based on LPD 

• Commutation will be calculated based on Basic Pension 

 

 

 

 



 

(Fig 9) 

b. In second condition If DH fills AE>LPD and chooses Penalty=No from dropdown and 

clicks on the “Calculate” button system will show the calculation as mention below as 

shown in Fig.(10). 

 

(Fig.10) 



In above Scenario where LPD<AE and Penalty =No, calculation will be done as follows and 

shown in Fig (11).  

• Basic Pension will be calculated based on AE 

• Gratuity will be calculated based on AE 

• Enhance Family Pension will be calculated based on AE 

• Normal Family Pension will be calculated based on AE 

• Commutation will be calculated based on Basic Pension 

 

 

 

(Fig.11) 

c. In third condition,  if AE<LPD , the dropdown for selecting penalty “Yes/No” will be 

disabled.  After clicking on the calculate button, system will show the calculation as 

shown in Fig(12). 



 

(Fig 12) 

In above Scenario where LPD>AE and nothing is chosen from dropdown, calculation will be 

done as follows and shown in Fig (13).  

• Basic Pension will be calculated based on LPD 

• Gratuity will be calculated based on LPD 

• Enhance Family Pension will be calculated based on LPD 

• Normal Family Pension will be calculated based on LPD 

• Commutation will be calculated based on Basic Pension 

 



 

(Fig.13) 

NOTE: This fuctionality will be applicable to Pay Revision of Death After Service cases as well. 

5. Pay Revision for BSNL VRS 2019 (Type 8) 
The logic as implemented for Type 5 Revision (Pay Revision) mentioned in Section 4 has been 

incorporated in Pay Revision for BSNL VRS 2019 (Type 8) 
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